= BARRACUDA

ASSEMBLY INSTRUCTION KIT
X1. BRACKETS + WINDSGREEN KIT
X2. SMALL BRACKET
X2. LARGE BRACKET
X2. M8X45 ALLEN SCREW
WINDSCREEN KIT X2. H13 THICKNESS
X2. M6X14 ALLEN SCREW
KTM DUKE 790 ‘18 X2. @6 WASHER
X2. SELF-LOCKING @6 DICE
X4. M5X12 ALLEN SCREW
X4. TEFLON WASHER
KTM 7300-18 X4. RUBBER WASHER

X4. M LETTER THICKNESS

WWW.BARRACUDAMOTO.COM

ASSEMBLY PROCEDURE:
1. UNSCREW THE TWO UPPER BOLTS THAT FIX THE STEERING PLATE TO THE FORKS.
2. FIX THE TWO SMALL BRACKETS, USING THE H13 THICKNESSES AND THE M8X45 ALLEN SCREWS.

3. FIX THE LARGE BRACKETS ON THOSE PREVIOUSLY MOUNTED, USING THE M6X14 ALLEN SCREWS, 06
WASHERS AND @6 DICE, AS FROM PICTURE.

4. FIX THE WINDSCREEN TO THE BRACKETS, ASSEMBLING IT AS SHOWN.

BRACKETS ASSEMBLY WINDSCREEN ASSEMBLY

& IMPORTANT: DO NOT TIGHTEN IN EXCESSIVE WAY TO AVOID BREAKAGE OF THE PLEXIGLASS.



